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Solutions

p = P(Diamond) = 13/52 = 0.25

q = P(No Diamond) = 39/52 = 0.75

To approximate the binomial distribution with 
a normal distribution we have the following:

= 30(0.25)

= 7.5

n = 30 (number of trials)

=     30(0.25)(0.75)

= 2.3717
√

A
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To approximate the hypergeometric distribution 
with a normal distribution we have the following:

n = 15 (# of beans selected)
p = 30/200 (# of reds)
q = 170/200 (# of not reds)

NP = 200 (size of population)

=       15(30/200)(170/200) 200 ­ 15
200 ­ 1√

= 1.333

D

To be considered a normal distribution 
np > 5 AND nq > 5

6 ways to win (double 1, double 2, ...); 36 possible outcomes (6 x 6)

p = 6/36 q = 30/36

np > 5

n(6/36) > 5

n > (5 x 36)/6

n > 30

nq > 5

n(30/36) > 5

n > (5 x 36)/30

n > 6

For both conditions to be met, the 
minimum number of rolls is 31.
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This is a hypergeometric distribution (golf 
balls selected without replacement). To 
model it with a normal distribution the 
number of dependent trials must be less 
than 10% of the population.

There are 30 + 20 + 10 = 60 golf balls

10% of 60 = 0.10(60)

  = 6
We need to select fewer than 6 golf balls, so the 
maximum number that could be selected is 5.

a) To model with a normal distribution n < 10% of NP

n = 5 (# of cards dealt) NP = 52 (population)

5 < 0.10(52)

5 < 5.2 which is true.
Yes, it is reasonable to model this 
distribution with a normal distribution.

b)  p = P(Heart) = 13/52 = 0.25

n = 5 (# of cards dealt)= 5(0.25)

= 1.25
The mean is 1.25

c) 

Dealing cards with no replacement 
represents a hypergeometric distribution.

n = 5 p = 0.25

q = 0.75 NP = 52
=      5(0.25)(0.75) 52 ­ 552 ­ 1√
= 0.9295

The standard deviation is about 0.930
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n = 100

p = 0.08 (one person)

q = 0.92 (two or more)
a) P(10) = 100C10(0.08)10(0.92)90

= 0.1024 The probability that exactly 10 of the 
cars contained one person is 0.1024

b) 

=   100(0.08)(0.92) √
= 2.713

= 100(0.08)

= 8

P(9.5 < x < 10.5) = 0.8212 ­ 0.7088

    = 0.1124

We need to apply the continuity correction as we are using a normal 
approximation. We need to calculate P(9.5 < x < 10.5) so we need 
the mean, standard deviation and z­scores for 9.5 and 10.5

x = 9.5,      = 8,  s = 2.713

x = 10.5,      = 8,  s = 2.713

z = (9.5 ­ 8) / 2.713

z = 0.55

z = (10.5 ­ 8) / 2.713

z = 0.92

P(x < 9.5) = 0.7088

P(x < 10.5) = 0.8212

The probability of exactly 10 
successes is 0.1124

c) As np (8) and nq (92) are 
both > 5, I would expect a 
close agreement between 
the two answers.

a)  n = 10, p = 0.25, q = 0.75

P(5) = 10C5(0.25)5(0.75)5

   = 0.0584
The probability that exactly 5 diamonds 
are drawn is 0.0584

b) Checking the restrictions...
np = 10(0.25)

= 2.5

nq = 10(0.75)

= 7.5
Since they are both not > 5 then it is not reasonable to 
use a normal approximation to model this distribution.

c) 
= 10(0.25)

= 2.5
=     10(0.25)(0.75)

= 1.369
√
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x = 4.5,      = 2.5,  s = 1.369

x = 5.5,      = 2.5,  s = 1.369

z = (4.5 ­ 2.5) / 1.369

z = 1.46

z = (5.5 ­ 2.5) / 1.369

z = 2.19

P(x < 4.5) = 0.9279

P(x < 5.5) = 0.9857

d) Applying the continuity correction we need to find P(4.5 < x < 5.5). 
We need the mean, standard deviation, and z­scores for 4.5 and 5.5.

P(4.5 < x < 5.5) = 0.9857 ­ 0.9279
  = 0.0578

The probability of exactly 5 
diamonds is 0.0578

e) Despite the criteria not being met 
to use a normal approximation it still 
gives an answer that is very close, 
namely 5.8%.

a) n = 200, r = 5, a = 2, Find P(0).

P(0) = 
200C5

2C0

1% of ovens are dented, so we expect       
0.01(200) = 2 dented ovens.

198C5x

P(0) = 0.9505

The probability that there 
are no dented ovens in 
the sample is 0.9505

b)

= 5(0.01)

= 0.05
=      5(0.01)(0.99) 200 ­ 5

200 ­ 1
= 0.2202
√

The mean is 0.05 and the standard deviation is 0.2202
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x = ­0.5,      = 0.05,  s = 0.2202

x = 0.5,      = 0.05,  s = 0.2202

z = (­0.5 ­ 0.05) / 0.2202

z = ­2.50

z = (0.5 ­ 0.05) / 0.2202

z = 2.04

P(x < ­0.5) = 0.0202

P(x < 0.5) = 0.9793

c) Applying the continuity correction we need to find P(­0.5 < x < 0.5). 
We need the mean, standard deviation, and z­scores for ­0.5 and 0.5.

P(­0.5 < x < 0.5) = 0.9793 ­ 0.0202
   = 0.9591

The probability of exactly 0 dented ovens is 0.9591

e) The normal approximation gives a slightly higher answer 95.91% 
versus 95.05% when compared to the hypergeometric distribution.

b) Since the sample size is less than 10% of the population we can use 
a normal approximation to model the hypergeometric distribution. 
Besides, it is a lot less calculating than using the indirect method and 
finding P(0), P(1), P(2), ... P(8), P(9).

a) This is a hypergeometric distribution.

n = 50,  p = 0.12,  q = 0.88,  NP = 900

= 50(0.12)

= 6
=      50(0.12)(0.88) 900 ­ 50900 ­ 1√
= 2.2343

x = 9.5,      = 6,  s = 2.2343

z = (9.5 ­ 6) / 2.2343

z = 1.57 P(x < 9.5) = 0.9418

However, we want P(x > 9.5) 

= 1 ­ 09418

= 0.0582
The probability of 10 or more of these 
already being customers is 0.0582
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a) Find the z­score for 500 g

x = 500,      = 502.83,  s = 1.95

z = (500 ­ 502.83) / 1.95

z = ­1.45 P(x < 9.5) = 0.0735
The probability that a jar contains less than 
500 g is 0.0735

b) As the mass of honey is continuous data, we don't need to use a 
continuity correction factor. This is already a normal distribution.

c) We need to work in reverse. To 
have a probability of 0.005 we 
need to use the reverse look up 
in the table to find the appropriate 
z­score... z = ­2.575 (midway 
between ­2.57 and ­2.58)

­2.575 = (500 ­    ) / 1.95

1.95(­2.575) = 500 ­

    = 500 ­ 1.95(­2.575)

    = 505.02125

The mean should be set at 
about 505.02 g to ensure that 
the probability of a jar being 
less than 500 g is 0.005
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